Problem 5

F An object is acted on by three forces. All three forces have exactly
the same magnitude. Two of the forces are perpendicular and
the third acts at an angle as shown above. No other forces act

0 on this object. Which of the following is true? For full credit,

F
< explain your answer.
L 1) It is possible for this particle to remain at rest.
2) It is not possible for this particle to remain at rest.
3) You cannot answer this question without knowing the value of
F the angle 0.

v 4) You cannot answer this question without knowing both the
value of the angle 0 and the magnitude of the forces F.
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> F, = Fcos(f) — F  Can’t be zero unless 6 = 0.
> F, = Fsin(f) — F Can’t be zero unless 6 = 90°.

= Can’t both be zero. Answer is (2).
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